IRAERO MRE L3

1) z=-17 (@)
5) z=-5 (6
1 r+9=-38

mWANG6 920 &
z+9-9=-8-9
z=-—17
2) 8x =48
fil% 8 Thd L
8r 48

8 8
z2=6
B) 2z—6=4
-6 &=METLHL
26=4+6
2x=10
z=5
4) 9+43z2z=-3+62
9L +6z 2RBIET DL
3z —6x=—-3-9
—3x=-12
z=4
b) —154+2=25+4+9z
z2—92=25+15
—8x=140
z=-5
6) 8x+3=32x—3)
Mo Z&ITTT L
8xr+3=6x—9
8z —6x=—-9—-3
2z =—12

r=-—6

3 1
7) Ex—zx+5

WAz 4 =NTdE

3 1

6z =z + 20
6x —x =20
5z =20
z=4
@) BIRDOMEEMN S
IXz=2x%12
3z =24
z=8

1200 m (1.2 km)

ENCHERFETOEDY 2 zm £T5,

B EREEDRERD S

x x

150 ~ 60
2z =5z — 3600
—3x=—23600
z=1200
ZHISREREIEL TV 5,

12

£oT, ENSEMERETDEDY IZ

1200 m (1.2 km)



